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(C ) 97 In theory, 1f the angle of attack and other factors remain constant and the
airspeed is double, the 1ift produced at the higher speed will be

(A)the same as at the lower speed (B)two times greater than at the lower speed
(C)four times greater than at the lower speed

B4eA250:0015571 A0 2% & 5



(B ) 98 Which statement is true relative to changing angle of attack?
(A)A decrease in angle of attack will increase pressure below the wing, and
decrease drag (B)An increase in angle of attack will increase drag (C)An increase
in angle of attack will decrease pressure below the wing, and increase drag

R4e48%.:0015072 %20 ¥k B %
(B ) 99 If an aircraft with a gross weight of 2,000 pounds was subjected to a 60°
constant-altitude bank, the total load would be
(A)3, 000 pounds (B)4, 000 pounds (C)12, 000 pounds

R4o48%.:0015073 #2e:0 ¥k B %
(B )100 While maintaining a constant angle of bank and altitude in a coordinated turn, an
increase in airspeed will
(A)decrease the rate of turn resulting in a decreased load factor (B)decrease
the rate of turn resulting in no change in load factor (C)increase the rate of
turn resulting in no change in load factor

o 4e82%.:0015074 A0 2% B %

( A ) 101 To avoid possible wake turbulence from a large jet aircraft that has just landed
prior to your takeoff,at which point on the runway should you plan to become
airborne?

(A)Past the point where the jet thouched down (B)At the point where the jet
touched down, or just prior to this point (C)Approximately 500 feet prior to the
point where the jet touched down

o 4e38550:0010575 w0 ¥ 5 B 4
( ¢ )102 The pilot controls the air/fuel ratio with the
(A)throttle (B)manifold pressure (C)mixture control

o 4o82%5.:0015076 A0 2% B %
( B )103 The best power mixturecis that fule/air ratio at which
(A)cylinder head temperatures are the coolest (B)the most power can be obtained
for any given throttle setting (C)a given power can be obtained with the highest
mainfold pressure or throttle setting

R 4eR850: 0015077 A0 ¥k B %

( A )104 The basic purpose of adjusting the fuel/air mixture control at altitude is to
(A)decrease the fuel flow to compensate for decreased air density (B)decrease
the amount of fuel in the mixture to compensate for increased air density
(C)increase the amount of fuel in the mixture to compensate for the decrease
in pressure and density of the air

F4o88%.:0015078 ka0 ¥ % B %
( ¢ )105 Applying carburetor heat will

(Mnot affect the mixture (B)lean the fuel/air mixture (C)enrich the fuel/air
mixture

10



448 %.:0015079 A5 .0 ¥k B %
( A )106 Detonation may occur at high-power settings when
(A)the fuel mixture ignites instantaneo-usly instead of burning progressivel-y
and evenly (B)an excessively rich fuel mixture causes an explosive gain in power
(C)the fuel mixture is ignited too early by hot carbon deposite in the cylinder

B he-38%50:0015580 2z e .0 % &%
( ¢ )107 Detonation can be caused by

(AMa “rich” mixture (B)low engine temperature-s (C)using a low grade of fuel
than recommend-ed

o 4o82%0:0015081 A0 ¥k B %
( B )108 An abnormally high engine oil temperature indication may be caused by
(A)a defective bearing (B)the oil level being too low (C)operating with an
excessively rich mixture

R4e485.:0015582 4w .0 $pd R %
( B )109 Propane is preferred over butane for fuel in hot air balloons because

(A)it has a higher boiling point (B)it has a lower boiling point (C)butane is
very explosive under pressure

F4o82%.:0015083 A0 2% B %
(C )110 On a balloon equipped with a blast vavle, the blast vavle is used for
(A)climbs only (B)emergencie-s only (C)control of altitude

o e%850:0010584 Ba w0 g5 B 4
( B 111 It may be possible to make changes in the direction of flight in a hot air ballon
by
(A)using the maneuverin-g vent (B)operating at different flight altitudes
(C)flying a constant atmospheric pressure gradient

F4o88%.:0015080 A0 ¥k B %
( ¢ )112 While in flight, ice begins forming on the outside of the fuel tank in use. this
would most likely be caused by
(Mwater in the fuel (B)a leak in the fuel line (C)vaporized fuel instead of
liquid fuel being drawn from the tank into the main burner

B 442 50:0015586 A0 sk A2 5
( B ) 113 To perform a normal decent in a gas balloon, it is necessary to release
(Mair (B)gas (C)ballast

448 %.:0015087 dE .0 ¥k B %
( B ) 114 What action is most apporiate when an envelope overtemperature condition occurs?

(A)Turn the maun burner OFF (B)Land as soon as practical (C)Throw all unnecessary
equipment overboard

B 442 50:0015588 A0 ¥ &0 5
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( B )115 Which is the proper way to detect a fuel leak ?
(A)Sight (B)Use of smell and sound (C)Check fuel pressure gauage

Fo 4o k8%55:0015089 42w .0 ¥ s B %
( A )116 What is the weight of propane?
(A)4. 2 pounds per gallon (B)6.0 pounds per gallon (C)7.5 pounds per gallon

F4o88%.:0015090 %520 ¥ % B %
( B )117 For what reason is methanol added to the propane fuel of hot air balloons?
(A)As a fire retardant (B)As an anti-icing additive (C)To reduce the temperature

B b B8%50:0015591 4220 5 2%
( ¢ )118 The purpose of the preheating coil as used in hot air balloons is to
(AM)prevent ice from forming in the fuel lines (B)warm the fuel tanks for more
efficient fuel flow (C)vaporized the fuel for more efficient burner operation

o 4o48%.:0015092 % w0 ¥ % B %
( A )119 One characteristic of nylon rope is that is
(A)is flexible. (B)does not stretch. (C)splinters easily.

o 4o82%.:0015093 A0 2% B %
(B )120 The term"to weigh off"as used in ballooning means to determine the
(A)standard weight and balance of the balloon. (B)static equilibrium of the
ballon as loaded for flight. (C)amount of gas required for an ascent to a
preselected altitude.

f4o88%.:0015094 s e .0 % B ¥
( ¢ )121 Superheat is a term used to describe the condition which exists
(A)when the surrounding air is atleast 10 degree warmer than the gas in the
envelope. (B)when the sun heats the envelope surface to a temperature at least
10 degree greater than the surrounding air. (C)relative to the difference in

temperature between the gas in the envelope and the surrounding air caused by
the Sun.

o 4e4855:0015095 fp ke 0 ¥k R ¥
( ¢ )122 Damper valves should normally be kept closed during a maximum rate climb to
altitude because any air forced inot the system world
(A)decrease the volume of gas within the envelope. (B)decrease the purity of
the gas within the envelope. (C)increase the amount of air to be
exhausted, resulting in a lower rate of ascent.

F 4o 88%.:0015596 42w :0 % B 7
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( B )123 Why should flight speeds above Vne be avoided?
(A)Excessive induced drag will result in structural failure. (B)Design limit
load factors may be exceeded, if gusts are encountered. (C)Control effectiveness
1s so impaired that the aircraft becomes uncontrollable.

B 442 50:0015597 g0 2 s A0
( A )124 Calibrated airspeed is best described as indicated airspeed corrected for

(A)installation and instrument error. (B)instrument error. (C)non-standard
temperature.

B 4-38%0:0015598 A0 2% & . %
( B )125 If a standard rate turn is maintained, how long would it take to turn 360 degree?
(A1 minute. (B)2 minutes. (C)3 minutes.

F4e%8%55:0015099 4.0 ¥4 R %
( B )126 What person is directly responsible for the final authouity as to the operation
of the airplane?
(A)Certificate holder. (B)Pilot in command. (C)Airplane owner/operator.

B 442 50:0015600 20 ¥’ &0 5
( B ) 127 Who is responsible for determining if anaircraft is in condition for safe flight?

(A)A certificated aircraft mechanic. (B)The pilot in command. (C)The owner or
operator.

f4o38%.:0015601 220 2% B %
( ¢ )128 Each required flight crewmember is required to keep his or her shoulder harness
fastened
(A)during takeoff and landing only when passengers are aboard the aircraft.
(B)while the crewmembers are at their stations, unless he or she is unable to
perform required duties. (C)during takeoff and landing, unless he or she is unable
to perform required duties.

R 4e88%5.:0015602 s .0 % &7
( B )129 Two aircraft of the same category are approaching an airport for the purpose
of landing. The right-of-way belongs to the aircraft
(A)at the higher attitude. (B)at the lower attitude, but the pilot shall not
take advantage of this rule to cut in front of or to overtake the other aircraft.
(C)that is more maneuverable, and that aircraft may, with caution, move in front
of or overtake the other aircraft.

o 4o82%50:0015603 A0 ¥k B %
( A )130 If an aircraft is not equipped with an electrical or anticollision light system,
no person may operate that aircraft
(Mafter sunset to sunrise. (B)after dark. (C)1 hour after sunset.

B 4-38%50:0015604 4E 0 2% A7
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( ¢ )13l Operation of a balloon, during the period of sunset to sunrise, requires that
1t be equipped and lighted with
(Mred and green position lights. (B)approved aviation red and white lights.
(C)a steady aviation white position light and a red or white anticollision light.

B 432 50:0015605 2 =0 2k & ¢
( ¢ )132 To operate a balloon in solo flight, a student pilot must have a logbook
endorsement by an authorized instructor who gave the flight training within the

preceding
(A)30 days (B)60 days (C)90 days

o 4o82%.:0015606 A0 2% B %
(B )133 In levels of learning, what are the steps of progression?
(M Application, understanding, rote, and correlation. (B)Rote, understanding,
application, and correlation. (C)Correlation, rote, understanding, and
application

o 4o82%50:0015607 A0 ¥k B %

( A )134 When computing weight and balance, the basic empty weight includes the weight
of the airframe, engine(s), and all installed optional equipment. Basis empty
weight also includes
(A)the unusable fuel, full operating fluids, and full oil. (B)all usable fuel,
full oil, hydraulic fluid, but does not include the weight of pilot, passengers,
or baggage. (C)all usable fuel and oil, but does not include any radio equipment
or instruments that were installed by someone other than the manufacturers.

F 4o 48%55:0015608 4220 ¥ s B %
( ¢ )13 What is the standard temperature at 20,000 feet?
(A)-15 (B)-20 (C)-25

o 4e4855:0015609 fg e .0 ¥k R ¥
( ¢ )136 When diverting to an alternate airport because of an emergency, pilot should
(Mrely upon radio as the primary method of navigation. (B)climb to a higher
altitude because it will be easier to identify checkpoints. (C)apply
rule-of-thumb computations, estimates, and other appropriate shortcuts to
divert to the new course as soon as possible.

o 4e4855:0015610 fg ke .0 ¥ b B ¥
( A )137 How long does the Kavanagh Balloons need to be inspected ? Whichever occurs
first.
(A)100 hours time in service of the balloons or twelve calender months (B)50
hours time in service of the balloons or six calender months (C)30 hours time
in service of the balloons or three calender months

B 442 50:0015611 Age:0 ks &
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( B )138 If the Kavanagh Balloons overheating is indicated, carrying out the overheating
inspection.
(Mabove 200°C (B)above 120°C (C)above 500°C

B 4-3250:0015612 4520 s’ &7

( B )139 Main liquid fuel hoses of the Kavanagh Balloons over of age must be replaced ?
(A)b years (B)10 years (C)12 years (D)15 years

4o 88%.:0015613 %8 %:0 % B ¥
( ¢ )140 The fuel tank pressure vessel of the Kavanagh Balloons limit digs ~ cuts or

gouges where the length not to exceed
(A)20mm (B)50mm (C)75mm

4o 48%.:0015614 32w .0 % B ¥
( B ) 141 Check the Kavanagh Balloon’s basket flyingwire for abrasion ~ kinks or broken

strands. A maximum of broken strands is permissible.
(A)3 broken strands (B)6 broken strands (C)10 broken strands (D)12 broken
strands

F 4o %8%55:0015615 4E e .0 ¥k R ¥
( A )42 If the Kavanagh Balloon’s altimeter altitude registered varies from the
actual altitude above sea level for your location, the altimeter will need to

be serviced .
(M)t 50 fts (B)x 100 fts (C)+ 200 fts

F 4o %8%55:0015616 4220 ¥ b B¢
( ¢ )143 If the Kavanagh Balloon’ s fabric grab test fails below then all weak fabric

must be replaced
(A)6 kg (B)10 kg (C)14 kg (D)20 kg

F 4o %855:0015617 4220 ¥ b R ¥
( D )144 What types of knots have been used in all models of the Kavanagh Balloons ?
(A)overhand knot (B)fishermans knot (C)bowline knot (D)all the answers above
are correct.

B b A850:0015618 42 e 0 25 R .7
( B ) 145 Repairs to small tears in the fabric of the Kavanagh Balloons where an adhesive
patch is used , the edge of the patch must extend at least past the damage

in all direction.
(A)10mm (B)25mm (C)50mm

f4o82%50:0015619 fpe:0 2% &7
( ¢ )146 The Cameron Balloon’s fuel cylinders require a periodic inspection.
(A)3 vyear (B)b vyear (C)10 vyear

B 4-38%50:0015620 4E 20 2% A7
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( A ) 147 If the Cameron Balloon" s fabric withstands a pull it is fully airworthy.
(A)30 1b (13.5 kg) (B)40 1b (18.1 kg) (C)50 1b (22.7 kg)

B 4-3250:0015621 420 ¥k &7

( B )148 If the Cameron Balloon’s fabric fails below then all the weak fabric must
be replaced and the envelope reinspected.
(AM)15 1b (6.8 kg) (B)21 1b (9.5 kg) (C)30 1b (13.6 kg)

4o 4855:0015622 4E e .0 ¥k R ¥
(D )149 If the Cameron Balloon’ s fabric fails between 21 1b and 30 1b (9.5 and 13.6
kg) fabric may be passed as airworthy with the following limitations, which answer
is correct ?
(A)Balloon size not to exceed 105000 cu. ft(3000 cu.m) (B)max loading 14 1b /
1000 cu. ft (C)grab test to be repeated annually or every 50 flying hours , which
is more frequent (D)all the answers above are correct.

F 4o %8%55:0015623 4 e .0 ¥k R ¥
( A )150 If the balloon has been in contact with an electrical powerline ,what is the
correct procedure ?
(A)a full annual or 100 hour inspection should be carried out (B)particular

attention should be paid tometallic parts, fuel cylinders and basket (C)perform
a flight test

4o 88%2:0015624 35w :0 5 B ¥
( ¢ )151 To repair the balloon envelope ,what kind of stitching is correct ?
(A)chain stitch (B)button hole stitch (C)lock stitch

B 4-38%50:0015625 4g 20 2% R .7
( ¢ )152 Holes and tears in the Cameron Balloon’s ripstop envelope fabric , less

than in any dimension ,may be repaired by using an adhesive patch .
(A)30 mm (B)50 mm (C)75 mm

o 4o88%.:0015626 %5 w0 5 B ¥
( B )153 Holes and tears in the Cameron Balloon’ s Hyperlast fabric where the dimension
of the hole 1s less than 25 mm or the length of the tear is less than

in length ,may be repaired by using an adhesive patch .
(A)30 mm (B)50 mm (C)75 mm

F4oB8%5.:0015627 s w0 5 B ¥
( B )154 The Cameron Balloon” s envelope fabric using an adhesive patch to repair ,

there must be at least between each patch .
(A)50 mm (B)100 mm (C)200 mm

4o 88%.:0015628 %5 w0 5 B ¥
( A ) 155 The Cameron Balloon’s envelope may be cleaned by hand with warm water
maximum .

(A)40 'C (B)60 T (C)80 C

B 442 50:0015629 g w0 s Ao
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( B ) 156 Damage to the Cameron Balloon’s basket wickerwork that will allow an object
diameter to pass through should be repaired .
(A)30 mm (1.2in) (B)50 mm (2 in) (C)70 mm (2.8 in)

B 4e4252:0015630 g w0 s Ao
( A ) 157 Which of the lubricant listing below must not be used to lubricate any part of

the Cameron Balloon’s fuel system?
(A)graphite lubricant (B)silicone lubricant (C)the Cameron KSP125 lubricant

F4e%8%55:0015631 4220 ¥ b B¢
( ¢ )158 What kind of gas must be used to purge the Cameron Balloon” s fuel cylinders
prior to any internal inspection ?
(A)Nitrogen (N2) (B)other non-oxidising gas (C)The ohter answers are correct.
(D)The ohter answers are correct.

F4o82%5.:0015632 fe .0 % B ¥
( A ) 159 When does the Cameron Balloon’s fuel systemblast valve need to performa regular
lubrication ?
(A)annually or after every 100 hours of flight (B)every half year or after every
50 hours of flight (C)every three months or after every 30 hours of flight

B 438 5.:0015633 2 w0 2k &0
( p )160 What kind of documentation must be presented at the time of the Cameron Balloon’s
100 hours inspection ?
(A)logbook (B)Certificate of Airworthiness (C)Flight Manual (D)The ohter
answers are correct.

B 4-3850:0015634 40 ¥k A7
( ¢ )161 If the Cameron Balloon’ s envelope has flown more than hours, 1s suspected

of having been overheated , or at the inspector’s discretion, perform a grab test .
(A)100 hours (B)200 hours (C)250 hours

o 4e4855:0015630 fE ke 0 ¥ b R ¥
(¢ )162 If the Cameron Balloon’s fuel system vapor pilot light becomes blocked , what
1s the possible reason resulted in the blockage 9
(A)blockage of the pilot light jet (B)blockage of the pilot light filters (C)The
ohter answers are correct.

o 4e4855:0015636 42 e 0 ¥ b R ¥
( A )163 When the Cameron Balloon’ s temperature indicator indicates a loss of
temperature signal .What is the possible reason resulted in the failure ?
(A)The temperature sender battery requires replacement . (B)The ambient
temperature is too low . (C)The balloon is lifting .

4o 88%.:0015637 %2 w0 5 B 7

17



( p )164 What kind of battery are required for the Cameron Balloon’s temperature
sender ?
(A)Duracell MN1604 battery (B)Energiger E522 battery (C)Equivalent battery
(D)The ohter answers are correct.

F 432 50:0015638 A2 w0 g% B 4
( A 165 If a chord is used for emergency deflation of the balloon envelope and the device
cannot be released in flight, the part used by the pilot must be colored with

color.
(AMred (B)green (C)blue

o 4e48%55:0015639 4.0 ¥k R ¥
( A )166 The force required to operate the emergency deflation cord of balloon envelope

must not be less than or more than
(A)25 1b feet, 75 1b feet (B)25 1b feet, 75 1b feet (C)10 1b feet, 100 1b feet

F4e%855:0015640 420 ¥k R ¥
( p )167 If the Cameron Balloon’s fuel system liquid pilot light regulator housing or
piston are heavily soiled, the following cleaners may be used , which of the answer
is correct ?
(A)chlorinated solvents (B)hydrocarbon solvents (C)water based detergents
(D)The ohter answers are correct.

F4e%8%55:0015641 4220 ¥ b R ¥
( A )168 The Cameron Balloon” s fuel cylinder purging procedure is filled the cylinder
with purging gas .What is the minimum and maximum pressure of the purging gas ?
(Mminimum 22psi, maximum 50psi (B)minimum 10psi, maximum 35psi (C)minimum
30psi, maximum 80psi

F4e%855:0015642 4E e .0 ¥k B¢
(D )169 Welding repairs to any part of the matal components of Kavanagh Balloons are
prohibited . Which of the answer is correct 9
(A)any part of the burner (B)any part of the fuel system (C)any part of the load
frame (D)The ohter answers are correct.

4o 88%.:0015643 s w0 5 B ¥
( B )170 If the Kavanagh Balloon is stored in very dry climate , the nylon flex frame
support poles will need to be soaked for hours in water every couple of months

to maintain optimum flexibility .
(A)12 hours (B)24 hours (C)36 hours

4o d8%.:0015644 %5 e .0 5 B ¥
( B )17l Cracks that appears to penetrate the entire floor of Kavanagh Balloon’s basket
floor and are visible on both sides of the floor must not to over mm in lenth

and must be repaired .
(A)50 mm (B)75 mm (C)100 mm
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4o 48%.:0015640 f5 e .0 2% B %

( ¢ )172 What kind of cleaner cannot be used to clean excess carbon deposite from the
Kavanagh Balloon fuel system’s burner to prevent scratching the stainless
steel ?

(A)detergents (B)soft cloth (C)abrasive scourers

4o 88%.:0015646 32w .0 5 B ¥
( B ) 173 The Kavanagh Balloon’s fuel tank purging must be carried out with an inert gas

such as nitrogen and the gas pressure do not exceed ___ PSI ?
(A)35 PSI (B)50 PSI (C)70 PSI

4o d8%.:0015647 %2 w .0 5 B ¥
( A )174 The Kavanagh Balloon’ s fuel tank padding is made from thick foam and should

be replaced if damaged . The padding is mm thick foam .
(A)20 mm (B)40 mm (C)60 mm

F 4o %8%55:0015648 4220 ¥ s R ¢
(D )175 The liquid fire valve of Kavanagh Balloon’s fuel system will need to be replaced
1f the valve is malfunction .Which of the answer s correct ?
(A)the valve is seizing (B)the valve is not shutting off (C)the valve is leaking
(D)The ohter answers are correct.

F4o82%5.:0015649 s w0 5 B ¥
( p )176 The Kavanagh Balloon fuel system’s every fuel hose should have a label . What is
the indication on the label ?
(A)the maxium working pressure (B)name or identification of the manufacturer
(C)month and year of the manufacture (D)The ohter answers are correct.

o 4e88%5.:0015650 s w0 % B ¥
( ¢ )177 The Kavanagh Balloon fuel system’s vapor pilot light hoses need to carry out

a leak test after replacement .What is the leak test pressure ?
(A)30~50 psi (B)40~60 psi (C)80~100 psi

R 4e88%5.:0015651 f .0 % &7
( B )178  The Kavanagh Balloon" s temperature sender will not transmit until there is
a temperature difference of ‘C between the probe and the temperature sender

unit .
(A5 C (B)I0 C (020 C

R 4e88%5.:0015652 f w0 % &7
( ¢ )17 If the Kavanagh Balloon has logged more than hours , is suspected of having

been overheated , or at the inspector’s discretion , perform a grab test .
(A)100 hours (B)200 hours (C)300 hours

4o 88%.:0015653 42w :0 5 B 7
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( A )180 All Kavanagh Balloon stainless steel fuel tanks manufactured by STPV or Mytton
Rod have a wall thickness of mm .
(A)1.9 mm (B)3 mm (C)5 mm

R4e485.:0015654 fge .0 $pb R ¥
( B ) 181 The Kavanagh Balloon” s Worthington aluminium fuel tanks have a minimum wall

thickness of mm .
(A2 mm (B)3.5 mm (C)5 mm

B 4-38%50:0015655 40 2% A7
( B )182 The Kavanagh Balloon’s fire extinguish must have been inspected with the

past months .
(A)3 months (B)6 months (C)one year

B 442 50:0015656 A w0 s &
(B )18 Operation of the red rip line of Kavanagh Balloon’s deflation system should

never exceed kg .
(A)25 kg (B)34 kg (C)48 kg

438550 :0010607 BE w0 ¥ 5 B
( A )184 The Cameron Balloon” s envelope thread is manufactured using thread .
(A)nylon thread (B)metal thread (C) cotton thread

B b A850:0015658 420 % R : 5
( A ) 185 The Cameron Balloon” s scoop or skirt is manufactured using a similar thread
made from __
(A)Nomex fire resistant nylon fiber thread (B)metal thread (C) cotton thread

B 442 50:0015659 Ag w0 2k &0
( c )186 For clockwise rotation of Cameron Balloon, the lower section of the control
vent line is ____color 6 mm Kevlar-cored line .
(Mred color (B)white color (C)green color

B 4-3250:0015660 Ag e :0 ¥k &7
( ¢ )187 For anticlockwise rotation of Cameron Balloon, the lower section of the control

vent line 1s color 6 mm Kevlar-cored line .
(Mred color (B)white color (C)black color

f4o88%5.:0015661 %5 e:0 % B ¥
( A ) 188 The Cameron Balloon’s envelope with volumes of less than 56000 cubic feet may

use stainless steel flying cables with a nominal length of mm .
(A)2020 mm (B)3500 mm (C)4200 mm

B 442 50:0015662 A5 w0 sk & 5
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( A )189 About the Cameron Balloon’ s envelope cleaning ,which of the answer is not
correct ?
(A)It is allowed to wash the balloon with washing machine . (B)Drying the envelope
fabric by hot inflation may damage the fabric coating . (C)It is important that
any cleaners used to clean the envelope do not contain bleaching agents .

o 4e82%50:0015663 A0 ¥k B %
( ¢ )190 What kind of repair of the Cameron Balloon” s envelope control systems that
the envelope should be test inflated after the repair ?
(A)if any repair has required the alteration of the envelope control systems

(B)if any repair has required re-rigging of the envelope control systems (C)The
ohter answers are correct. (D)The ohter answers are correct.

B 4-3850:0015664 4E e 0 sk A7

(B )191 Split or damaged Cameron Balloon’ s basket runners must be replaced with
runners made from .Which of the answer is not correct ?

(Mkiln dried ash (B)stainless steel (C)kiln dried beech
F4ek855:0015660 4220 ¥pE B¢

( B )192 What is the Cameron Balloon’ s envelope stainless steel flying cables standard
length ?

(A)2280 mm (B)2557 mm (C)3550 mm
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